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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I

3500 —>— EcFzExp :
3000 | ¢ ECdef :
—>— water_ec |

2500 ALl AL T T A e R e e

M I DOOOOOOOOO0O0
2000 :
1
1500 |
xooooo?x !
1
1000 I
1
Warning: col [ EcFgro’, 'EcPltng’'|] is missing

500

25

50

75

100

125

150

175




Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
—o— mEe | 1687 —o— ME 6.4 —o— ME 16.25 4 —@— M_E
16. 6 |
16. 2 16.00
16. 4 i
16. 0 - 15.75
16. 0 15. 6 15. 25
15. 8 15. 4 4 15. 00
T T T T T T T T T T T
690 695 750 755 760 805 810 815 885 890 895
m=925,m FV0=0 m m=470,m FV0=0 m=530,m FV0=0
M_E 25 + —— M_w 935 - —— M_W 24.5 —o— M_W
24 23.0 24. 0 A
22.5 23.5 1
23 +
22.0 A 23.0 A
22 +
21.5 1
22.5 1
T T 21 L T T T T T 21 - 0 - T T T T T T
930 935 500 600 700 800 900 470 475 480 530 535 540
m=610,m FV0=0 m=685,m FV0=0 m=750,m FV0=0 m=805,m FV0=0
—0— MW 2404+ —@— MW -@— MW 24.5 1 —0— MW
24.0
23 5 4 24.0
23.5
23 0 4 23.5 A
23.0
29 5 4 23.0
22.5
99 0 - 22.5 A
22.0
T T 21.5 4 T T T T T T 22.0 T T T
615 620 685 690 695 750 755 760 805 810 815



m=885, FV0=0

24.0 MW
23.5 A
23.0
22.5
22.0
T T T
885 890 895

m=925, FV0=0
25.0 A —o— MW
24.5 A
24.0 A
23.5 A
23.0 A
T T T
925 930 935




hour

100

80

- 60
:00

:10

- 40

105

015

145

§_

‘*@»
7
7
T
2



P3-11

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

07:35 250 110.0 RS 1Ri&@07:35 Bz (REEESE)
08:35 250 110.0 BE| 1BRi%e08:35 B3 (RF{EEEE)
09:50 250 110.0 B 1Ri%8e09:50 Bah (REEER)
11:00 250 110.0 el Rige11:00 Bz (REAEHSE)
12:10 250 110.0 | Ri%e12:10 B (RF{ERSE)
13:05 250 110.0 S| 1Rige13:05 Bzh (REEER)
14:15 250 110.0 (=] 1Ri%e14:15 Bz (REERSE)
15:45 250 110.0 |Z=| 1Ri%e15:45 Bz GGREAMEESE)
23t 2000.0 (8%) 880. 0 32933 KEC: 2080.0, PH: 5.8

TERRHEBRE STEEART (162.0 :

ZRIASERRIERE130.0 ml.

130.0), FIEEHT—@ L XA HS
LoRGERREC (250) 574 (212. 0) FF, FIREH T & ARG EIRS £ XER

REREEBIEC (2565.0) Hi&EEC (2000.0) REIK, BHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=34 (2025-05-06)

1004 VI, V0, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1458 1 1500
1150 170
75 4
15—1000
50
- 500
25 4260324 60
I14o |156 Warning: lcol ['FVI',| FVO’'] missing
E 0
208 3 .
( v — wme P
150 - FRV maxM
- 25
O e e o — N I N [N I I |1 S O SO SO -
I [ o
50 - | | | | | | | | 1N |
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5. 8 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
. 4 2000
300 4 Bylnit @D37:02:59: ET=1301 Fg=1170.0 Ro=35.0
: " o—&—@ 1500
1
200 A i S & ©
: - 1000
1
100 : - 500
b © o t
0 aE aE — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 2000
3001z %= W FH 5 | i | Big | g | g | BB i 5 5 5 | BB | BB 5 5 i 5 5 5 i 5
1
ByEt @D34 18:35: ET=1123 Fg=1170. 0 Ro=nan : - 1500
200 A &—+© & S & ©
- e & ) - 1000
100_ - _500

1

1

1

1
e Te—e o oo D .
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 2000
W lBZIEZ | W B | Bz B | % | B % | W% | 8| %EIE-521521232 1321521221221 % | "

]
ByWoFv @D37102:59: ET=815 Fg=880.0 Ro=27.0 - 1500

—$—8—8—8 | '

200

100 A

|
|

¥

/

1.0 @

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

80

60

RH
4041 @ RH_obs
(] RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



18. 0

17.5 A

17.0 A

16.5 A

16. 0 1b

T
500

760 860
m=710,m FV0=0

17.25 1 —@—

17. 00

16. 75 1

16. 50

16. 25

16. 00

710

T T
715 720

m=950,m FV0=0

17.75 4+ —@—

17. 50

17. 25 A

17. 00 ~

16. 75

16. 50

950

955 960

m=590,m FV0=0

23.5

23.0

22.5 -

22.0 -

590

595 600

m=535, FV0=0 m=590, FV0=0
17.00 4 . 17.50 4
16. 98 - 17. 25 -
16. 96 - 17.00 ~
16. 92 - 16. 50 -
16.90 - o—eo—o—o | 6297
T T T T T
546 548 590 595 600
m=765,m FV0=0 m=805,m FV0=0
i 17.75 -
: —— —o— NE
17.50 -
17.0 -
17. 25 4
16. 8 -
17.00 -
16. 6 -
16. 75 -
16. 4 - 16,50
T T T T T
765 770 775 805 810 815
m=975,m FV0=0 m
——
18.2 -
18.0 -
17.8 -
17.6 -
975 980 985 500 600 700 800
m=645,m FV0=0 m=710,m FV0=0
24.0
24.0 - .
23.5 -
23.5 -
23.0 -
23.0 -
225 -
225 -
990 -
22.0 -
645 650 655 710 715 720

m=645, FV0=0

17. 4 A

17.2 4

17.0 4

16. 8 -

16. 6

16. 4 -

T T
650 655

m=860,n FV0=0

17.8 4

17.6

17. 4 -

17. 2 -

17.0 A

16. 8 -
8é5 8;0
m=535,n FV0=0

22. 60 A

22.58 A

22. 56 A

22.54 A

22.52 A

22.50 A

5&6
m=765,n FV0=0

24.0 A

23.5 A

23.0 -

22.5 A

22.0 A

770 775




m=805, FV0=0

24.5
—— MW
24.0
23.5 A
23.0 -
22.5
T T T
805 810 815

m=860, FV0=0
—— MW

24.0 -
23.5 -
23.0 -
22.5 -
22.0 -

T T T

860 865 870

m=950, FV0=0
24.0 - MW
23.5 A
23.0 -
22.5 A
22.0 -

T T T

950 955 960

m=975, FV0=0
—— MW

25.0 -
24.5 -
24.0 -
23.5 A

T T T

975 980 985
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P3-11

BHiE) | FEBIATIC (D) | JEME EH/H) | X5 ERR
15:40 250 130.0 BA| 1Bi%015:40 B3Eh CGRAAERESE)
2it| 250.0 (1)%) 130.0 32353 KEC: 2080.0, PH: 5.8

TERRHLER 2 STEIEART (162.0 :

ZRIALPRERE128.0 ml.

128.0), FAlEEHT—@ % XA S
AEREMEC (2610.0) 5i%EEC (2000.0) RMELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=33 (2025-05-05)

100 A

50 A

208
150 -
100

50 -

V1, VB3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1300

40

=~

- 25

- 20

- 15

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.8

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 -

1
By lnit @D37:02:59: ET=943 Fg=910.0 Ro=32.0

T
a1
o
(=}

5 6 7 8 9 10 11 12 13 14 15 16 17 22 23

300 S

—_
o0}
—_
©

=1 N

| S
N
—_

B | BR[| BB | M [BH | M | M [ 8 | BA | BA [ M | BA[BA | M | M [M | M PR [ FH

200 -

100 -

0 1

ByEt @D33 18:35: ET=419 Fg=256.0 Ro=nan

(S S =
H
=

— -

T
a1
o
(=}

—o—s—g—g T 8
S s S —— S | ———— |
0 1 2 1 3] 4] 5 6 7

8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 S

BH | BH [ BA [/l BR | & |/ /e | /Aven | /v | Bem | FEm | B [ BA [ BA [ BA [ BA | BA | BA | BA | BH | FH | A

200 -

100 -

1.0 A

]
ByWoFv @D37102:59: ET=222 Fg=130.0 Ro=0

T
a1
o
(=}

4__.__.—.——0—0-—0—""’_""-._F+4 —o—¢—o
— —— f1+ a .Q_/M‘ ® hd ® hd ®
01 1] 21314105

0.8

vy | e [ [N [ BERR (BERR | BA | BA | BH | BH | BH | BH [ BA [ BA [ BA | BA | BA

¥ o

B | BH [ BA [/la [ BA

0.6

0.4+

0.2~

800 4

—_—
o | _obs
—@— PPFD_obs

40 1) —— RH

: o RH_obs

20 ' ([ RHo_obs

0.5 4 & ® VP

- 1000

26 3215 I
Warning: lcol [FVI',| "FVO’'] missing 40 822

%

500

- 1500
n

- 1000

F 9500

- 1000

F 9500

- 1000

FRV (ml

M_E

- 1500

d-1

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=460, FV0=0
5.0) —® ME - ME
17.5 17.0 7
17.0
16.5
16.5
16.0 16.0
T T T T T T T T
500 600 700 800 900 460 465 470
m=460,m FV0=0 m=850,m FV0=0
24.0
23,04 —@— MW —— MW
23.5 -
22.5 -
23.0 -
220
22.5
21.5
22.0
21.0 -
T T T 21 5 T T
460 465 470 850 855 860

18.

18.

17.

17.

17.

17.

16.

m=850, FV0=0

25 A

00 -

75 -

50 A

25 A

00 -

75 -

——

M_E

850

T
855 860

24.0

23.5 -

23.0 A

22.5 A

22.0 A

21.5 A

21.0 -

MW

T
500

T
600

m

T
700

T
800

T
900



